YCcTHBIN

Nel. CpaBHuMTE: ~
0,372 0,385 quT735’3 735,300
4,781 4,791 0,041 0,0041

Ne2. Mexxay KakKMuMu HaTypanbHbIMU YMCIaMun
HaxoauTcs Yucna:
<3,23< <12,364<
<]1,25< <9,34<




Ne3. Beipasure:

a) B KWJIOMeTpax:
4KM 555M;
6KM 45M;

75M;
1KM 2M;
0) B TOHHAX:
3T 455KT;
oT 8KT;
3005
2T 711;




- N°4.OxpyriuTe 1o nesnoro:

<5,65<

C n30bITKOM
. HejOCTaTKOM




N°5.Bp1Oepu BepHble paBeHCTBa:

a) 12,75 = 12,750;
0) 0,2 = 0,200;
B) 8,50 = 8,05;

r) 870 = 8700;
1) 75,0 = 75;

e) 5,9500 = 5,05.




N26. OKpyriuTsh A0 COTHIX

3,85684 =~ 3,86000




OKpyrnunThb :
A) 0o Oecsimbix
2,781

3,1458

1025,962

30,46

b) 0o combix

0,07258
2,45556
20,091
85,544
8,355

B) 0o oecsimkos
178,5

2085,35

333,3

300,17

138




